English 1, semester 4, Spring 2006
Assignment 6 - KFY
Review — Units 14-18 (English for Business Studies)

L. Vocabulary (20 pts.)

Translate into English.

. vynosy (z) dang z pfijmu - receipts from income tax / income tax revenue

. narokova emise - rights issue

. dostat podil na rozdéleném zisku - to receive/get a proportion of distributed profits

. v zavislosti na avéruschopnosti klienta - depending on the client’s creditworthiness

. predstavovat hrozbu pro druhou firmu na trhu - to present threat to the market challenger
. dobrovolny dohled - voluntary oversight/supervision

. predvidat pokles hodnoty mény - to anticipate currency depreciation

. umg¢le stanovena cena - (an) artificially fixed price

9. podcenit riziko obsazen¢ v derivatech - to underestimate the risk contained in derivatives
10. (index, akcie) spadnout / prudce klesnout kvili takovym povéstem - to plummet/plunge/crash due
to such rumours
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I1. Prepositions (20 pts.)

Fill the gaps with suitable prepositions or adverbials, if necessary.

1. They sold the securities in the hope of buying them back at a lower price.

. This is a contract made to buy oil at a certain future date, at the price fixed now.

. What interest will be paid on the loan?

. Assets are turned into cash when a company has to pay -_its debts.

. We are going to concentrate on finding out what it is that appeals to young customers.

. In theory, there should be no barriers of entering - an industry.

. A market may be divided into submarkets according to what and how different groups of potential
customers buy.

8. The period during which an economy works below its potential is referred to as recession.
9. Central banks sell and buy Treasury Bills as a way of regulating the money supply.

10. Phil Cheng speculates on options on the Hang Seng stock index.
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III. Grammar (30 pts.)

Put the verbs and other words in brackets into the correct forms. Add auxiliary verbs, prepositions
or particle to where necessary.

1. Mr Frost is expected to address his staff tomorrow and inform them about the changes.

2. 1 don't believe in being helped without asking for it, but I refuse to beg for help.

3. He has always succeeded in persuading buyers that machinery needs replacing every three or
four years.

4. Why do/did/will you not / don’t/didn’t/won’t you object to being blamed for disloyal
behaviour?

5. The accident (has) made me reconsider some procedures. Now [ am going to persuade you to
accept my suggestions.

IV. Translation (20 pts.)

1. Ac¢koli malé firmy jsou pruzné a schopné rychle odpovidat na podminky na trhu, jejich
uzka zakaznicka zakladna pisobi vazné vykyvy obratu i zisku.

Although small companies/firms/businesses are flexible and able to respond quickly to
market conditions, their narrow customer base / range of customers causes serious
fluctuations in turnover and profit.

2. Jaké moznosti maji vlady, kdyz vetejné vydaje piekroc¢i vynosy z dani? Urcité nemohou
vydavat akcie jako podniky, ze ne? What options do governments have when public



spending exceeds tax receipts/revenue? They surely/certainly can’t issue
equities/shares/stocks like companies/businesses, can they?

3. Uvérovy manazer, ktery s nami mél pohovor, se zeptal, pro¢ si myslime, Ze na§ budouci
podnik bude uspésny.

The credit manager who was interviewing us asked why we thought that our future
business would be successful.

4. Po zruseni zakonu, které ptikazovaly prisné odd€leni komer¢nich a investi¢nich bank,
nabizi nyni bankovnictvi sluzby poskytované diive pojiStovnami a obchodniky s cennymi
papiry.

After abolishing the legislation enforcing a strict separation between commercial and
investment banks, the banking industry now also offers services previously provided by
insurance companies and stockbrokers.

Total: 90 points



